° CAT.E203-© % m

: Pin Cylinder
, Series CJP/Double Acting-Single Acting
| $6, 910, $15

@ Minimize mounting space. Super compact design air cylinder.




Pin Cylinder Index




oS'V'Cl

Symbol

CJPB6-10D

CJPB15-30D

Double Acting

Series CJP/96, $10, $15

Specifications
Action Double acting
Max. operating pressure .. Tkgf/cm?
Min. operating. ¢”5'\ o 1.2kgf/cm? -
pressure- ‘10,915 0.8kgf/cm?
Proof pressure - _ 10.5kgf/cm? -
Ambient and fluid temperature 5~60°C B
Lubricétion Not required
+10

Stroke tolerance

0

Rod end tﬁread

Male thread/Without thread

Cushion

Rubber bumper at both ends

Type of mounting

Nose mount, Flange mount, Foot
mount, Clevis mount, Trunnion mount

Standard Accessories

Type of mounting "CCES50€S | Mounting nut(1) Rod-end. nut(2)
Nose mount @ L ]
Flange mount s ®
Foot mount L 2 =
Clevis mount = e -
~ Trunnion mount = = @
Options
Part description Bofe size 6 I ¢'1O d | 2 i Hﬁlﬂ&l’kﬁ pi B
Auto switch® D-90-D-97 |24VDC or less, 50mA
Single knuckle joint | 1-P006 | 1-Po10 | I-PO15 o
Double knuckle joint | Y-POO6 | Y-PO10  Y-POI5 with pin

#5mm stroke is with one switch.

Auto switch can not be installed with clevis or trunnion mount.

Stroke Parts no..of mounting bracket
Bore size{mm) Stroke (mm) M;ﬂﬂ;ﬂ}g&ﬁ‘éﬁ: 6 10 15
6 5,10,15,20 Flange - |CP-FO06 CP-FO10, CP-FO15
10 5,10,15,20,(25)* 30 Foot . |CP-L00B|CP-LO10|CP-L015
15 5,10,15,20, (25)7 30 Trunrion éwith pin} | CP-TO0B| CP-TO10| CP-T015

#5mm spacer is added to the 30mm stroke cylinder.




Series CJP

Cy‘inder Theoretical Force Welght (gt} The weight in parerrtheswsls 15 with aute switch.
Bol:(_:;ze L~ Op:atin&isu?e:(kgffcm') .- F e e e ﬁ Bore s1ze(mm :
) | ERETE e ] T AT
T w Joss i te | 5| @en | wen | seam
> [ our Joss 141 ves T ! 50(61) 8677 | 108(119)
& 10 1.77 412 et ! Stroke | - 15 ¥:j@% _73(84) _ 1istzey
” OUT 2.36 3 93 5 50 (mm) 20 62(73) 79080} 127 (133}
*1:” | 445 | 7.42 (1039 - * 25 [ = e3loa | 4859
OUT | 530 | 884 | 1237 i, 30 - '792(103& 146(157)

T mosin (Additional weight)

N D 2R IC I N I T
* Foot 8 10 24

Clevis 3 7 12

e B T e TR e SN

“Frunnion (with pin) 18 32 80

Example} CDJPF10-15D-80
Basic(with auto switchs 84 +Additional weight{(Flange)8=80gf

How To Order

C[DJP(FX10 <15)D(_~ 908
T | _Qﬂ

Auto switche—— — ——— ‘ \ J—-—- Switch suftix
Nil— - Standard ! } Nil——- With two switches
D——— With auto switch ‘ i S —— With one switch

{built in magnet} |

j ‘ | | @ Switch type
Type of mounting [ i i

#5 stroke: 8 type only

| Nil — Without auto switch
B ——— Nose mount ) i ‘ 90— -D-90(0.5m lead wire;
F - —— Flange mount ’ O0L———D-80L(3m lead wire)
L — —Foot mount 97————D-97(0.5m lead wire)
D——— Clevis mount * ’ 97— —D-97L(3m lead wire)
T- Trunnicn mount* & | \

# Autc switch can not be nstalled with
Clevis or trunnicn mount

\ ¢ Rod end thread

[ Nit — With thread
i B——  witl
Bore sizee——— | | hout threag
6-——— 6mm | v
10— — 10mm L )
15— 15mm Action
D———— Double acting

Stroke{mm)e— — —

6- —5,10,15,20
10— - 5,10,15,20,25,30
15——5,10,15,20,25,30



http:15--5,10,15.20,25.30
http:97---D-97(0.Sm
http:9O---D-90(O.5m

Series CJP

® With Auto Switch

Specifications
Reed switch
Auto switch model 5 + : :
D-90 i .. D97 .
Applications Re\ay Sequence cantrl, IC circuit @y Sequence contro(
Loadvoltage | 5V,12V,24VAC,DC 24V DC orless
Max. load curr;rT/range of load current B UmA T _—Sn—EmA—;i
) Internal voltage drop . T “7077 -177 2_5 or le iess o
CDJPB10.20D 7Leak current ) | 7_ ___ T o ;
= Response time B 1.2ms
- CDJPEG-100 _Irga;a_tor lamp SRR 5 None T ON Red lught ml&moci-e_
Electrical_e_nt—ry;—_— ~ e ’-— o ‘_ TErommet 7
E Lead wire - “— ] - VanTO_Qmm? 2wwe ET% -
. impact resis%;ce o qﬁ T 30G -
Insulation res1stance:_- | 50MQ or more aﬁ)om(betweéﬁmc;sé and cabl_e)‘
Min. breakdown voltage T ‘{Oowiﬁ\C-imin_ibetweeﬁ;micase ,;:! cem a
Ambuent@hﬁur? DR T 5—80°C T o
* Protection structure RN _IEC s;ec R?, JISEO_B_Z'E(imme_rsion-p‘ro_of)i

#if 3m lead wire 1s required,L 1s put at the end of model numbers,
Example) D-97L

Auto Sw1tch/ Weught wh  Auto Switch Mounting Position/D-90, D-97

: : : Leadwrr lerigth
s rype. M 5o LB e
el . O‘Qm 8m

Switch D-90, 97 4 22
Maunting bracket| o 4 L

¢ | Operating range
8

with set screw

N, Most sensitive position

Switch Mounting Bracket

e Mointirg bracket Apghcable
. AWHEh-type |part No. . |cylinder bore
D-90,97 | BP4 | 61015

Auto Switch Circuit Diagram

D-90Type
F’:;;— o
2
1= ;
[ s :
5 Rt
L
Bore | Dimension A Dimension B Dimension C Dimension W- | D 1 Operating:
— P P +— ek @
- (mm) | 510,15, 20(st) [a0(s) 5t | 10, 15 205t} [30(s0[ 5,10, 5, 20(s0) ot 5. 10, 15, 200sh Jaoisu| = |-~ Lo
y _ 6 3 |— —| 58 [—-I — 75 | — 95| 55
Reed  Light emitting = Tr——" T ‘—4— 3-7 7 g 9 - ﬁ e
switch  diode —_— —_— — ‘ st
el ek 15 2 — 35 | 35 95 (11, 9
Resistor
Diode 1) The above dimensions may vary in areas where magnetc interference is present.

2} For 5 stroke cyhinder, only one auto switch may be mounted either on the rod end or the cap end.
. 3} There are two ways to mount the auto switches as shown in the above figure For the b. ¢, methad. the cap

3]

end auta swiich will exiend shghtly past the cap end




Series CJP

The Contact Protection Box Contact Protection Box Circuit  Contact Protection Box/Dimensions

D-90 Switch has no internal contact pro-

tection circuit. If current load is inductive co-p12
and the lead wire length is greater than 5m, a—f-‘;é—;'l';t;ﬁoiﬂalack wire
use of the protection box is necessary. Condensor ! [ coil |

— _ ; o LResIStr o s \hite wire
““Part.No :|Voltage [Length -of lead wire| bt .

~ CD-P12_ | 24VDC [0.5m on both sides

Caution For Auto Switch How To Mount The Auto Switch

5

Pitch

QAlways connect switch to load before turning on power.
@ Avoid impact, dropping or striking an auto switch.
©Cannot be used in magnetically contaminated areas.
O1f auto switch cylinders are used in parallel keep the distance
between cylinders in accordance with the chart below. To set switch position, loosen the screw and move the switch to
the correct position. Tighten the screw to the recommended torque .
5—8kgf-cm.

. . Bore size . 6 | 10 15
- Mounting pitch - 20 | 30 35




Series

CJP

Construction/Parts List

Symbol
I

1]
T

coJpPB6

| T ‘ '%;@J U K
(I S R i W
—| t~/ - J__?_

CJP26~15({Construction is same as CJPB6~15]

COJPB10
CcJpPB1S

In case of 6

)

In case of 10,415

A

Parts List
No,| "  Description _ Material | . Remarks No.| Description Material . | . Remarks
'@ Body Brass Electroless nickel plating @ | Flange bush Resin P10, 915
® | Cap cover Brass [Electroless nickel plating ® Trunnion*pin__ Stainless B 6nly
© | Pistonirod Stainless steel - ® | Clip ! Carbon steel  Black zinc chromate | trunnion
N W “¢6 Brass [ @ | Trunnion Carbon steel  Black zinc chromate | Mmount

10,915 Brass
© | Magnet Magnet With auto switch only
© | Retaining ring Steel Black zinc chromate Seals List
® | Mounting nut Brass Electroless nickel plating o _— ) Bare size(mm
® | Rod e: nut’ Steel Nickel plating o No.[ Beecription Medecial | Cty ] 1:) : 15
©'| Bumper A Urethane - @®| Piston seal NBR | 2 | DYP6 | DYP-10 | DYP-15
@ | Bumper B | Urethane ®| Rod seal NBR | 1 | DYR-3K | DYR-5K | DYR-6K
'@, Switch mounting bracket | Aluminium alloy Black alumite 20] Cap gasket NER 1 PSX Pl DXl | plaxe
® Switchwmr"ew 5 ) Stael wire Black zinc chromate
B, | Alito switeh 4 D-90-D-97

Naote) The mm bore cylinder is not repairable.

(5]



http:mounti.ng

Series CJP
[t T

Nose mount: CCJPB

' Dﬁi@ensibn;s_(mm)

P
A
. Ar
ElE%s 3
w A ‘ 30°
Of | E Z
- "
o B L l \\\
3 Rod end without i
//C)q’ (ACross fiat threa:d v NN mmﬂ
S S w
s
S
?Se&,\c:.
[ Bore size | o Liirnanar Eiiasngy “With aute switch
! {mm) 5t Fjgm 1581 zgsg{mss o e Py
6 3 475 525|575 625| — | 165 105] 20
10 3 | 505 555|606 655 755( 20 | 13 | 21"
15 4 [545 595|645)|695 795|245|155 23
Boesize |, ol g e 4| F Floa e H 4| K MM | NN R ot rene ISR e
. Amm) | | | ‘ | Bst= | 108t ‘__1531 2050 ,gmsf
6 79 1414 38 65/ 6 6|17 6 8! M3x05 | MIOXI0 7 |305[355 405|455 —
10 10|12 15|17 5|8 |65 6 7 20|7 8 T 8 305|355 406|455 555
RE 12,14 20 19 6 1085 6| 7 24| 9 8| M5X08  MI4x10 | 10 305|355 405 455555
Flange Mount: CCOJPF
2-M5%0.8
o z
H
A F
LA
A |
2 aol -
e[ TH g
Rod end without Liddic N
2-¢FC  thread NN h )
N\ Auto switch
W FT e
Bore size | S . . ‘; - Z | With ‘auto switch
(mm) 5st [ 10st | 15st | 20st | 30t | | 55t [ 105t 15st | 20t | 3pst P v i
6 305/355/405 455 — | 3 475|525 575|625 — 20 | 185 |
10 305|355 | 40.5| 455|555 3 | 505 555 | 60.5| 655 765 | 2% « 22 wun
| 15 | 305355 405/455|555 4 545(505|645 695|795| 23 265
: I S E— . N "
-B‘Eﬁ:"fe Ala B |B ‘ 0 E F | GA GB|H | J MM NN R FC[ FT | FX FY | FZ
6 7 [ 9 |14 14| 3 [105 8 | 6. 6 17| 6 M3x05 | Mi0X10 | 7 | 34 16| 24 | 16 | 32
I 1w ri{15 1w 6|13 8] 8 %7 20 | 7 | maxo7 | Mi2x10 |g [ a5 16 28 |- 18 -8R
15 12 14 [ 20 19 6 (156 10 | 6 | 7 24| 9 [ M5x08 | M4x10 | 10 [ 65 23| 36 | 22 49 |




Series CJP

" Dimensions (mm) i I3 _J
Foot Mount: COJPL LX
o . 2-M5%0.8
" H S ]
G8
5: ol
w
|
3
Rod end without \'\\
thread
s Auto switch
I ’ Bore sizé o W il [ ] with atto Switch
(mm) ~5st | 10st | 15%t | 20%t | 39, 55t [.1pst | 158t [ 20st[,30st, T e
6 305|355 405|455] — 3 475 525|575(625 - | B 20 21.5
T 805|355 405]|455|655| 3 |.505, 565 605]65.5 758) 7.| | 21, et
15 305]355 405|455/555] 4 [545 595|645|695 795| 9 23 335
TRCTCr R RS [ P R R IO v v AN LeRe x| e e | x| 2
L i T IV yaty) el s I e s i i oot o R B N R T TRl . s i el g ORI TR TRESEE
6 17 o 14 14| 3 105] 8 6 | 6 |17 M3x05 | MIOx10 | 7 65 |105| 34 11 | 16 | 20 | 28
KSR 1 P ) T T e 2 T s vt Vi SO I Wil A T S BT R e
15 121420 19] 6 155/10 6 [ 7 |24 M5x08 | MI4x10 | 10 10 |165 55 18 | 23 | 30 | 43
Clevis Mount: CJPD/Without Auto Switch
. zz o
L B e $CD
B8 A '@T 2-M5X0.8 GB Built in flange bushing
[ 7
B i | {Except ¢6)
|
& . | 1h4 K
w | i /
- 7 !
MM /NN
| z ox
Boresize | °S 4 R ZT v et \xi
{mm) 5t | 10st | 155t | 20t [ 30t | 58t | 108t | 158t | 205t 30st | st [ 109t | 155t [ 208t agsr]
6 355]405|455/505| — [485 535 585[635 — |525|575|625 675| —
10 40.5 | 455 | 505 | 55.5|655| 54 | 59 | 64 | 69 - 79 |p05|655] 70.5] 755|855
15 42 | 47 | 52 67 | 67 | 58 63 | 68 | 73 83 | 66 | 71 | 76 | 81 | 91
Al B C/|eD|E GA|GB| H | J| K| MM NN Q T CK,
N il # | - A | i+ i e g
9 [ 14 185 3 [105 B | 11 | 17 | 6 | 8 | M3X05 | MIOX10 - | 7] 8% | 4
412 15120 5.1 6 | 17|27 [ 8| Maxor | mi2xi0.| .47-81 | 8 J-+g 790 1 66
14 | 20 2456 6 [155 6 |[185| 24 9 | 8 | M5X08 | MI4x10 22°34 10 | 308 8




Series CJP

2-¢CY

dlev

Trunnion Mount: CJPT/Without Auto Switch

Dimensions (mm)
Z7Z CT
H s
——"lA‘ < 2-M5X0.8 =
A l T

#CD Pin hole DIA
Retaining ring Ctype

O
G
Trunnion Mount N T
Bore size i S ; 2 i |
l (mm) 55t | 108t 153t!ggst 3;):3 58t osthst- :;205(130'52' 59t | 1
I 6 355|405/ 455505 485]535 585635 —
10 40.5]455 505|555 65.5| 54 | 59 | 64| 69 ?5_91 ;
[ 1 |42 47|52 57|67 58| 63|68 73|
A'Fq_ e u-:&gsbl E !GAJGB! H [J L K| MM NN 0" T ¢£l €H 1O
[ 9 [14[165] 3_105] 6 11 |17 6| B M3x05 | Mi0x10 185,204 3‘ 6] 4 | 12| LJ: 18 J _25
I10]12 18] 200 5 [181 6 [17 (20 7 | 8 | Maxo7 | Mi2x1.0 [205(289] 5 | 20 ] 65 1356 1.6 | 24 45| 3
1214 ﬁo 245] 6 [155] 6 (18524 | 9 | B | M5x08 | MI4x10| 28 |37 6 | 251 8 | 17 |29 29 42




Series CJP

Double Knuckle Joint . .

. Accessories
“Single Knuckle Joint

e
\ ®
\.
X
\:\?‘\ :-;,__—__._;
Lz L
Drio _As MM

NX=3:
:

(—,J:b.'ﬂ
0B,

[ Model 8o szglom] Ar] Bi| ¢NDmo [ Li | k2] MM | Ui [NX[Ri[Re| [ Model [Bue sizaimmf A ] By #NDiio \L'||Lz MM U X MRa_,

P00 6 (516 3°3% "2(35|M3x05]5 3!5 4| YPo06! & (5] 6\»3“”"0 12135 M3x05| 5 3]5' 4
P60 10 |65[10’ 573%% 16|55Max07|7 5|8 |63 "y-Poto [ 10 {6510 & %9 16|55 maxo7| 7 5 8 63
IkPO1s | 15 |7 (12 675%® 19[7 'M5x08 9 6[10 7.8 YPO15, 15 712 69°% 19 7 M5x08 9

» \ __ Knuckle Pin g ~__ Trunnion Pin
L S
Z fm [t 2 T
T ° (I T] o|
| [ s I I
—— B -4 b=
3] fE—H-d

[ Modek Baé's'iée(mrat #0d9 | L |od] ¢ | m | t | Cip | Model [Boesizetnm] gD+, | Lofed & ['m [t ] el |
IY-POO6 | 329%% | 9 [285 62075065 Ctype 3 l cT-POO6 6 32920 Tog4[285|17.6/075]0.65] Ctype 3
" IY-PO10 10 1 5999 136/ 48102 1 | 07 | Ctype 5 [CcTPo10, 10 | 5888 '239]48[205) 1 |07 Ctypes

| v-PO15 | 15 | 67398 158[ 57 [122] 1 | 08| Ctype 6 [ CTPO1S, 15 | 67485 |31.7/57)281 1 | 08| Ctype 6 |

. 52 e o ! r - Fram s T T
= “Mounfing Nut ] Rod End Nut ]

© °
& - O

I

[—ﬂ—— «J——LH
' “Model | Bore size (mm)| d. | H 728_"_0 | r ~ Model Bore size (mm) L
| SNP-006 6 | Mioxio [ 3 14 162 | NTP-006 6 | M3xos

SNP-010 10 mi2x10 | 3 17 T 19.6 ‘ ~ NTP-010 10 M4x07,_

| SNPO15 | 15 M14x10 | 4 19 | 219 |  NTPO15 15 M5x0.8




Plug Mount Type Panel Mount Type

Symbol

|

Single Acting

| Series CJP/96, $10, #15

Panel Mount Type

|
\
|
|
|
|
|

Plug Mount Type

Spe_cifications

Action ( Single acting-spring return
s Max. o_peratlng pnessae - :j___g7¥k~—;_kgﬁ om?z ——;;—
Min. Gperating L 96 | __ 2kgffem? B
pressure - P10 w15 1.5kgf/cm?
Prc?o? p_reg;ure *—j— T __Tﬁéf;’cmz o
o Krr—)BJeTnt and fluid temperature | s-e0C S
Lubﬁcation o Not_r;que—di*%hﬁ
Cushion - Ne
Stroke tolerance e S

Rod end thread
I‘:Aount'ing method

Standard accessories

Mounnngm
Gasket(1)
Rod end nut(2)#

Mountmg aut(2)
Hose nipple (1)
Rod end nut(2)*

#Provided to the madel with rod end nut.

Spring Retracting Force (g

o
2" | Sy fosuore| e et | ST
& |sms] 350 | 400 ClP@6 | 106 131 156
10 510,15 | 250 610 cJp@10 | 28 33 38
15 |51015 450 | noo cPels | 72 | 82 | 92
= Same spring force for each stroke. ¥ Weight of hose nipplel4gf) 1s not included.
Stroke Hose Nipple For Panel Mount
Bore size (mm) Stroke (mm} Type(Wlth F|XEd Orifice)
6 510,15 Apphcabie bore siz8 l Model
10 | sieas | #ames ] CheHa
T 45 .5‘—10,15 o _4biea’ —7 CJ-5H-6 .



http:1<4/71>2.50

Series CJP

Construction/Parts List

Symbol

©8low out tubing and fittings fully before
use.
| @Install air filters to supply clean air.

0 9 6 o 0 0 (5 ® Use the provided hose nipple @
\ \ ’ o]

M5 (orifice size ¢0.8 :
Panel mount type | = \ P A CJ-5H-4, CJ-5H-6.

e O Load on the piston rod must be kept in-
line with axis. Avoid side load, otherwise
it may bend the piston rod or damage
the rod end thread.

©®Be careful not to damage the surface
of the piston rod.
®@Be careful not to damage the cylinder
by operating a load with excessive iner-
tia.
@ Avoid loading the single acting cylinder
. during retraction.
@Lubrication is not required, however use
non-additive turbine oil 1ISO VG32 if

M

Plug mount type

lubrication is provided.

Ay
Parts List
No.| - ‘Description -, |- __ Material Note :
o Cover , Brass Electroless nickel plating
o Piston -~ . - - ; Silainles_s steel B -

b *. . Collar: Brass - = -
WF - e j_RduH sp_firlgm_ -] lia?wwe i_ _qu_1c chromate
‘@ . Pistonseal NBR B -
L IR Gasket NBR =
Tﬁ_‘ —_g_hMoﬁnEng#Eut__— hBras_s Electroless nicke!l plating -

Q. Rod end nut ) Steel ~Nickel plating o




Series CJP

Recommended Mounting Hole Dimensions For Plug Mount Type

Plug Mount Type

E }.__A_ 1
B NS B D | Sealed by O-ring
m- ! >\\ C .
ol ;
jo ol [ | S | 1
) I <= Supply air

U FRELTENE

g |
Bore size(mm)_'[ _Stroke A B c D E_ | ¢F | G
5 16 | 125 10
6 [ 10 | 23 [ 185 17 | 35 | MI0X10 85 3
15 30 | 265 | 24 ‘
- S 17 | 135 | 105 |
10 ] 10 235 | 20 | 17 | 35 | MI5x15 | 12 4
e s 15 305 [ 27 | 24 | -
5 19 | 145 | 115
15 w0 25 | 205 | 175 45 | M@X15 19 5
15 315 | 27 | 24
Paol oot ntalindes) ¥y Tes e S DARBRSIONS(mm) e et T e e
Panel Mount Type:CJPB NN
Exhaust __Bore¢6:C05 MM = M5x0.8
N, #10,15:C = ~
N\ ] L
, oL
= £
7
.—H -
Rod end withaut -A *J.
thread .
s
Bore size. . . " F l | =
[ v f“:f Col B gaTron]qew| *C | H | K| MM NN 57 O
6 7 1 12[139] 6 [125]195[265]85 9 35| M3x05 MI10x10| 9 | 185[255|325| 3 27.5|345|415] 3
9. {10/ 19]22] 6 [145] 21 | 28 [ 12 | 12 | 35| M4X07 | M15X15| 13 (205 27 | 34 | 4 ' 325| @9 . 46 ' 5
15 1227 31| 7 165|225' 290 | 19 14 |42 M5x08 M22x15]| 20 | 235[295 36 | 5 | 375|435 50 ' 6
Plug Mount Type: CJPS Exhaust NN
V S Bore $6:C0.5 M - -
N #10,16:C1 BN , gl
N Wigt=". " aw
== T e e
v C H o
7 L
L H
w K
| s Rod end without AH : F 5 1
thread ‘ '
B = - p—
“Bore size |- B kg o [ 3 g =3 - EE ]
£ | -
e ) A. B. ? $E 68t | 108 | 169 K oy { e .-H;1,§5} 103t | 158 w.ﬁssf 10st | 15t Q:
6 7 112138 6 |125 195[265/85 9 |35 M3X05 MIOX1.0 9 | 185|255|325| 3 275| 345|415 3
1o v90.,19 [(22 | 6 ]145) 21 | 28 [ 12 | 12 [ 35| M4x07 | M15x15] 13 | 2055 | 27 | 34 | 4 325 39 |:46 | 5 |
15 122731 7 [165[225] 20 [ 19 14 [42 M5x08  M22x15| 20 [235(295| 36 | 5  375|435| 50 ' 6

®




Series CJP

How To Order

Pin cylinder » — )
Mounting &——— J
B- Panel mount type
S— — Plug mount type

Bore size‘

B———6mm

. 10— ——10mm
15— 15mm

‘ | Nil—— With thread

t———# Rod end thread

B——— Without thread

® Hose nipple(Applicable to panel mount type)

H4 —— Applicable tube size ¢4/¢2.5
H6— —Applicable tube size ¢6/¢4

® Stroke
5,10,15mm




SMC CORPORATION :

16-4, 1ICHOME, SHIMBASHI, MINATO-KU, TOKYO, 105, JAPAN.
Tel :03-3502-2740 Fax:03-5251-7240

st printing February 1988, D-T, P-30 3rd printing February 1990 300 Specifications subject to change without natice.
August 1896, 14(RP)

Printed in Singapeore




	1cover
	1toc
	1-9
	10-14

